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Chpt 1 Review for Quiz 1 ~Date Period__

List all the sets of numbers that the following belong to.
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True or False. For all false statements, explain why the answer is false using a counterexample.

2) The opposite of every whole number is a whole number.
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3) There are no rational numbers that are also mtegels whole -
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4) The product of t»{ro natural numbers is always a natural number.
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Solve each inequality and graph its solution.
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Solve each compound inequality and graph its solution.
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Solve each equation.
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Solve each inequality and graph its solution,

17) |-9n| +5<95
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